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BACHELOR'S DEGREE IN LIBRARY AND 
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June, 2018 

BLS-6 : INFORMATION SERVICES 

Time : 3 hours 	 Maximum Marks : 70 

Note : Answer all questions. All questions .  carry equal 
marks. Illustrate your answers with suitable 
examples and diagrams, wherever necessary. Write 
the relevant question number before writing the 
answer. 

1.1 Explain the different approaches to information. 
Discuss the services that can be provided to 
satisfy 'Current Approach' to information. 

OR 

1.2 List the various groups of users of information. 
Discuss the purpose for which each category of 
users require information. 

2.1 Discuss the growth and development of 
documentation and information centres in India. 

OR 

2.2 Explain, with examples, the different levels at 
which information and documentation centres 
operate. 
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3.1 Discuss the various types of reference queries 

received by the library and the services provided 

by the library to satisfy the users. 

OR 

3.2 What are the characteristics of current 

awareness service ? Discuss its different types. 

4.1 Describe the recent trends in document delivery 

service and the role of international 

organisations in this regard. 

OR 

4.2 Explain the steps involved in literature search. 

5.0 Write short notes on any three of the following 

(in about 300 words each) : 

(a) Value-added Information Services 

(b) Information Analysis Centres 

(c) Newspaper Clipping Service 

(d) Anticipatory Services 

(e) ADONIS 
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